MTH 161

Midterm 1
Thursday, October 6, 2016

NAME (please print legibly): SO\OCHWLS

Your University ID Number:

Circle your instructor and class time:

Bobkova (MWF 9:00) Doyle (TR 9:40) Doyle (TR 3:25)
Lubkin (MW 2:00) Yamazaki (MWF 10:25)

Please read the following instructions very carefully:

e You have 75 minutes to complete this exam.

e Only pens/pencils are allowed. The presence of notes, calculators, cell phones, iPods and
other electronic devices at this exam is strictly forbidden. You may refer to the formula
sheet on the last page of this exam.

¢ Show your work and justify your answers. If you need extra space, use the back of the
previous page and clearly indicate that you have done so. You may not receive full credit
for a correct answer if insufficient work is shown or insufficient justification is given. Clearly
circle or label your final answers.

e Sign the following academic honesty statement: I affirm thai I will not give or receive any
unauthorized help on this exam, and that all work will be my own.
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1. {20 points)

(a) Solve for z:

|2z + 5| = 11.
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(b) On what interval(s) is the following inequality true?
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. Find a formula for the inverse f~!(z).

(c) Let f(z) = ——

2+ 4
- ~ L
x 1@(33 Q_KD +é Ix
o a (2x+ Dy -~ ~4Ux
X = 28“‘ J
8 — —le
2xt |

¥(2y+4) = —Y j
2%y + ¢x -~y F‘(K) - L[x [

(d) Solve for x:
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(e) Solve for x:
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2. (12 points) Consider the points (1,2) and (7,0).

(a) Find the distance between these two points.

Disae < \J(‘?—!)”+ (0-25*

{(b) Find an equation for the line L passing through these two points.

0-2 -2
pe - -1 — L
5\0 —)'—'i - (9 = 3

(c) Find an equation for the line that is perpendicular to L and passes through the point
(3,1).
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3. (20 points)

(a) Evaluate sin (—1%) (Hint: Start by writing ;r_z = % - —E)

sn(2) = sin(LT-T
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(b) Find all values of z in the interval [0, 4x] that satisfy the following equation:

sin(z) + cos{z) =0

s1al) = -~ coslx)
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(¢) Find sin~!(sin(77/6)).
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(d) Find cos (tau"l (-\g—é) )
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4. (24 points) Compute the following limits. If the limit does not exist, write “DNE.”
When appropriate, write oc or —co instead of “DNE.” You may only use methods dis-
cussed in this class thus far.
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5. (12 points)

Answer the following questions about the function f(z) graphed below. You do not need to
justify your answers.
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(a) For which values of z in the interval (—4,6) is f(z) not continuous?
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(b) Sketch the graph of the function g(z) = — f(x — 2) below. Label at least three points on
the graph.
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6. (12 points) Use the Intermediate Value Theorem to show that the equation
e® 4 3z = x* + 2
has a solution = between 0 and 1.
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